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Name: __________________________________
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Three expressions are shown below.


I.    [image: image1.png](x*)?






II.   [image: image2.png]





III. [image: image3.png]10
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Which expressions are equivalent for all positive values of x?

2
If the expression [image: image4.png]()



 is equivalent to [image: image5.png]16y



, what is the value of a?

3
Which expression is equivalent to [image: image6.png](3x%)?



?

4
The expression [image: image7.png](6x°y")?



 is equivalent to

5
The expression [image: image8.png](—4a’h)?



 is equivalent to

6
Which expression is equivalent to [image: image9.png](—4x%)?



?

7
Which expression is not equivalent to [image: image10.png]


?
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	[image: image12.png]
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	[image: image13.png]




	4)
	[image: image14.png]






8
Expressed in simplest form, [image: image15.png](323)(2)* (4x*)



 is equivalent to

9
The product of [image: image16.png]


 and [image: image17.png](~2a°b)?



 is

10
If [image: image18.png]x#0



, then [image: image19.png]1000



 is equivalent to

11
The expression [image: image20.png]


 is equivalent to

12
The expression [image: image21.png](10w*)?
Sw




 is equivalent to

13
The expression [image: image22.png]()




 is equivalent to

14
Which equation is true?
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Which statement is correct?
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	3)
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If [image: image31.png]


, then [image: image32.png]


 is equal to

1
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